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Geometry CC — Mr. Valentino Name:
Unit 12 Day 6: Tangent-Secant Angles Date: Per:

Aim: What are tangent-tangent, tangent-secant, secant-secant angles and angles of an inscribed
quadrilateral?

Do Now: Using circle O, what is the measure of 2ZADC?
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Two Tangents:

1 Line segments AD and CD lie tangent to circle O. What is the measure of <ADC?
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Two Secants:
2. Line segments AD and CD are secants in circle O. What is the measure of <ADC?
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3. CD lies tangent to circle O and AD is a secant. What is the measure of <ADC? o
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In the diagram below, quadrilateral ABCD is inscribed in circle O. What are the measures of each angle of
quadrilateral ABCD?
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1_Find the value of x in each of the diagrams below:

a) 114° b) c) 732
X
13
175°
d] e] f]
1007 98°
257°
136 T06°

2. In the accompanying diagram, P54 and PCD are 3. In the accompanying diagram, tangent PA and

secants to the circle. If mZFP = 40 and mAD = 120, secant PBC are drawn to circle O. If mADC is

find mBC. twice A48 and mZP is 50, what is mAB?
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4. In the diagram below, tangent ML and secant MNK

are drawn to circle 0. The ratio mﬁ: m‘!'\'*l:": mﬁ
is 3:4:5, Find mZLMK,

L

K

5. The diagram on the right is not to scale. ABC - XYZ= 3:2,
arc AX = 80° and arc €Z = 170°. What is m£k?

&. In the diagram, regular pentagon ABCDE is inscribed in circle O. Chords EC and DB intersect at F, chord DB is
extended to G and tangent GA is drawn. What is m £AGD?

A G

D C

7. Find the value of x in each diagram below:
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